

Simplify

1)
$$\sqrt{64} = 8$$
 $8^2 = 64\sqrt{7^2} = 49$

3) $\sqrt{\frac{16}{25}} = \frac{4}{5}$

4) $\sqrt{16} + 9 = \sqrt{25} = \frac{16}{25}\sqrt{5}$

5) $\sqrt{16} + \sqrt{9} = 4 + 3 = 1$

Square - root Function

$$f(x) = \sqrt{x}$$
No index - rindex = 2

ever index

Radicand $\geq 0 \rightarrow x \geq 0$

Answer ≥ 0

$$(42)$$

$$(43)$$

$$(43)$$
Function by

V.L.T.

Find the domain:

(1)
$$S(x) = \sqrt{4-x}$$
 P($\chi \le 4$) even index

even $4-x \ge 0$ Coo, 4]

index $-x \ge -4$ Odd index

No restrictions

even $x-3 \ge 0$ $x \ge 3$ All Reals

index

(- ω , ω)

index

Odd $\rightarrow AII$ Reals $(-\omega, \infty)$

index

Assume
$$x \ge 0$$
 $x = x$

Assume $x \ge 0$
 $x = x = 0$
 x

Radical notation
$$\stackrel{\cdot}{\varepsilon}$$
. Rectional Exponent

 $\sqrt[m]{\chi^m} = \chi$
 $\sqrt[3]{x^3} = \chi^{\frac{3}{5}}$
 $\chi^{\frac{1}{2}} = \sqrt[3]{\chi^1} = \sqrt[3]{\chi}$
 $\chi^{\frac{1}{3}} = \sqrt[3]{\chi^1} = \sqrt[3]{\chi}$
 $\chi^{\frac{1}{3}} = \sqrt[3]{\chi^1} = \sqrt[3]{\chi}$
 $\chi^{\frac{3}{2}} = \sqrt[3]{\chi^1} = \sqrt[3]{\chi}$
 $\chi^{\frac{3}} = \sqrt[3]{\chi^1} = \sqrt[3]{\chi}$

Simplify
$$4^{\frac{5}{2}} - 8^{\frac{2}{3}} = \sqrt{4^5} - \sqrt[3]{8^2}$$
From Algebra
$$(x^m)^n = x^{m \cdot n}$$

$$(x^m)^n = x^{m \cdot n}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 8}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 4}$$

$$= \sqrt{4 \cdot 4 \cdot 4} - \sqrt[3]{8 \cdot 4}$$

Recall
$$\chi^{m} \cdot \chi^{n} = \chi^{n+n}$$

$$\frac{\chi^{m}}{\chi^{n}} = \chi$$

$$(\chi^{m})^{n} = \chi$$

$$(\chi^{m})^{n} = \chi$$

$$= \chi^{\frac{3}{3}} \cdot \chi^{\frac{1}{5}}$$

$$= \chi^{\frac{3}{3}} + \frac{1}{5} = \chi^{\frac{13}{15}}$$

$$= \chi^{\frac{3}{5}} \cdot \chi^{\frac{1}{5}}$$

Simplify
$$\frac{\sqrt[4]{\chi^3}}{\sqrt[5]{\chi^2}} = \frac{\sqrt[3]{4} - \frac{3}{4}}{\sqrt[4]{5}}$$

$$= \chi^{\frac{3}{4} - \frac{3}{5}} = \chi^{\frac{3}{4} - \frac{3}{5}}$$

$$= \chi^{\frac{3}{4} - \frac{3}{5}} = \chi^{\frac{3}{4} - \frac{3}{5}}$$

$$= \chi^{\frac{3}{4} - \frac{3}{5}} = \chi^{\frac{3}{4} - \frac{1}{5}}$$

$$= \chi^{\frac$$

Simplisy
$$150 = \sqrt{35.2}$$

$$-\sqrt{25}\sqrt{2} = 5\sqrt{2}$$

$$-\sqrt{25}\sqrt{2} = 5\sqrt{2}$$

$$-\sqrt{25}\sqrt{2} = 5\sqrt{2}$$

$$-\sqrt{25}\sqrt{2} = \sqrt{4B}$$

$$-\sqrt{25}\sqrt{2} = \sqrt{25}$$

$$-\sqrt{25}\sqrt{2}$$

$$-\sqrt{2$$

```
Distribute and Simplify

\sqrt{7}(\sqrt{14} - \sqrt{7})

= \sqrt{7}\sqrt{14} - \sqrt{7}\sqrt{7}
= \sqrt{98} - \sqrt{49}
= \sqrt{49.2} - \sqrt{49} = \sqrt{49}\sqrt{2} - \sqrt{49} = \sqrt{12}-7

FOIL and Simplify
(5\sqrt{2} + 2\sqrt{3})(4\sqrt{2} - 3\sqrt{3})
= 20\sqrt{4} - \sqrt{15\sqrt{6}} + 8\sqrt{6} - 6\sqrt{9}
= 20.2 - 7\sqrt{6} - 6.3
= 40 - 7\sqrt{6} - 18 = 22 - 7\sqrt{6}
```

Assume
$$(\sqrt{x})^2 = \chi$$

$$(\sqrt[3]{x})^3 = \chi \implies (\sqrt[3]{x})^n = \chi$$

$$(\sqrt[3]{x})^3 = \chi \implies (\sqrt[3]{x})^n = \chi$$
Isolated Radical
index = 2
$$(\sqrt[3]{x-2})^2 = (\sqrt[4]{x})^2$$
Square both Sides
$$(\sqrt[3]{x-2})^2 = (\sqrt[4]{x})^2$$
Always Check
$$3\chi = 16$$

$$3\chi = 18$$

$$\chi = 6$$
Therefore $\chi = 4$

$$\chi = 6$$
Check $\sqrt{3(6)} = 2$

Solve
$$\sqrt{5\chi-1} - 8 = 0$$

$$\sqrt{5\chi-1} = 8$$

$$(\sqrt{5\chi-1})^2 = (8)$$

$$5\chi-1 = 64$$

$$5\chi=65$$

$$\chi=13$$

Solve
$$\sqrt{2x+5} = (-5)^2$$
 $\sqrt{2x+5} = 6-11$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = 25$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = 25$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = 25$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = 25$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = 25$
 $\sqrt{2x+5} = -5$
 $\sqrt{2x+5} = -5$

Solve

$$\sqrt[3]{6\chi-3} = 3$$
 index = 3
(where both sides)
 $(3/6\chi-3) = (3/6\chi-3) = (3/6\chi-3)$

Solve
$$x = \sqrt{6x+7} \qquad \text{Isolated rodical}$$

$$(x)^2 = (\sqrt{6x+7})^2 \qquad \text{Index} = 2$$

$$x^2 = 6x + 7 \qquad \text{Square both Sides}$$

$$x^2 = 6x + 7 \qquad \qquad \text{Then } x^2 - 6x - 7 = 0$$

$$(x-7)(x+1) = 0 \qquad \text{Extraneous}$$

$$x-7 = 0 \qquad x+1 = 0 \qquad \text{Solution } -1$$

$$x=7 = 0 \qquad x+1 = 0 \qquad \text{Solution } -1$$

$$x=7 = 0 \qquad x+1 = 0 \qquad \text{Solution } -1$$

Class
$$Q \neq 27$$
 Show work $f(x) = \sqrt{6-2}x$ Box Your $f(x) = \sqrt{6-2}x$ Sinal Answer $f(-15) = \sqrt{6-2(-15)} = \sqrt{6+30} = \sqrt{36} = 6$ Style $f(-15) = \sqrt{6-2(-15)} = \sqrt{6-10} = \sqrt{-4}$ Undefined